c:\users\matthew\engineering express\production - documents\projects\23-\23-64831 multiple products 2023 fbc update fl 16219\work\2023 fbc\23-64831 - f|16219.1 - dwg.dwg

8/19/2023 12:42 PM  MATTHEW

COLBY BENNARDO, PE
PE# 95197 CA# 9885 |
TOWN & COUNTRY INDUSTRIES ~
OF THIS DOCUMENT & USE OUTSIDE FLORIDA: \
L~ e .
COLONIAL SHUTTER - PATENT #8126298 o LGl SITESPECIELC STRUCTURAL PERFORMANCE EVALUATION, TS  Digitally signed by
IMPACT / NON-IMPACT - NON-HVHZ PROFESSIONAL WHO SHALL BE RESPONSTOLE FOR THE PROPER ADAPTATION '
OF THIS GENERAL PERFORMANCE EVALUATION TO ANY SITE-SPECIFIC k COI by Be n n a rd O
PROJECT. CONTACT THIS OFFICE AT ENGINEERINGEXPRESS.COM/QUOTE
NON-SITE-SPECIFIC STRUCTURAL PERFORMANCE EVALUATION. A DESIGN PROFESSIONAL SHALL BE FOR ASSISTANCE WITH YOUR PROJECT- |
RESPONSIBLE FOR CERTIFYING THE APPLICATION OF THIS INFORMATION TO ANY SITE-SPECIFIC LOCATION. & CERTIFICATION OF THIS DOCUMENT OUTSIDE OF FLORIDA. | Date: 2023.08.21
" | 1 1
4.017" 139~ .075" 055 I 13:59:09 -04'00
. " " .
3.682" 308" R.062 185" 566 —'2 o0 L N TYP. GENERAL NOTES:
. ., 100" _\ H— 060 .233" . - 7 1. THESE INSTALLATION INSTRUCTIONS ARE PART OF A PRODUCT APPROVAL FL# 16219.1
864 'H' 1.791 'H' 706" H — L 090" R13.796" EVALUATION AND SHALL ONLY BE USED IN CONJUNCTION WITH THE EVALUATION ;
A . (G : . — \ : R13.851" REPORT SUBMITTED FOR THE SAME PRODUCT APPROVAL. o
. J VLN ol o " 5 H— N 2. THIS SYSTEM HAS BEEN TESTED AND EVALUATED IN ACCORDANCE WITH THE U] —
° Jl o of o 326" 369" Sligs" okt © 3 R.081" FLORIDA BUILDING CODE EIGHTH EDITION (2023), FOR USE OUTSIDE THE HIGH N s
of. ] < n o 425 : 214 - o K m N VELOCITY HURRICANE ZONE, AND THE INTERNATIONAL BUILDING CODE (IBC) Z e
: S j\T .080" e sz m || X R.250" AND INTERNATIONAL RESIDENTIAL CODE (IRC). THIS SYSTEM MEETS MISSILE —e 8 IO
| /2 Ay ] | |—% : LEVEL "D" AND INCLUDES WIND WIND ZONE 4 AS DEFINED IN ASTM E1996. SEE 18 B oM
896" i EVALUATION REPORT FOR MORE INFORMATION. m A8 mn
|, 1.318" 1.875" 1 m 3. POSITIVE AND NEGATIVE DESIGN PRESSURES CALCULATED FOR USE WITH THIS mm Wy W
1 2.521" o SYSTEM SHALL BE DETERMINED PER SEPARATE ENGINEERING IN ACCORDANCE w o X
L 4 WITH THE GOVERNING CODE. PRESSURE REQUIREMENTS SHALL BE LESS THAN Z'.l.] 8 <>( X
OR EQUAL TO THE POSITIVE OR NEGATIVE DESIGN PRESSURE CAPACITY VALUES i
MUNTIN JAMB JAMB SNAP 4" CENTER CLIP COLONIAL BLADE LISTEQD HEREIN FOR ANY ASSEMBLY AS SHOWN. —m <o &) G]
SCALE: HALF SIZE SCALE: HALF SIZE SCALE: HALF SIZE SCALE: HALF SIZE SCALE: HALF SIZE 4.  TESTING WAS CONDUCTED IN ACCORDANCE WITH TAS 201/202/203 AND ASTM (.DD. 3:' = % E
E1886/E1996/E330. Zz0y
—.145" . 5. THIS SYSTEM HAS BEEN DESIGNED WITH NO SEPARATION FROM GLAZING Z>< (I/_) g > W
N 195 REQUIRED FOR WIND ZONES 1-3, IN ACCORDANCE WITH ASTM E1996. IT IS |_u|,u OFE § w
" . T L ACCEPTABLE BY CODE UNLESS OPTIONAL CRITERIA IS INDEPENDENTLY ADOPTED =
3.875" —'H;-()go 245 4 N BY THE AUTHORITY HAVING JURISDICTION. TR0
; N . . 1.125" | 6.  DESIGN PRESSURES NOTED HEREIN ARE BASED ON MAXIMUM TESTED =0z
—. 145 1951 2 i o . PRESSURES DIVIDED BY A 1.5 SAFETY FACTOR. ~
‘ Nt — 060" 2 in| o © : . X 7. NO INCREASE IN ALLOWABLE STRESS HAS BEEN USED IN THE DESIGN OF THESE =
AL ~ in| m R w . 145 <z[ PRODUCTS. WIND LOAD DURATION FACTOR Cd = 1.6 WAS USED FOR WOOD
. L 1.125" v =~ v 3.875 " ANCHOR DESIGN.
) — ALSE| = ~ ~ : 8.  DETERMINE THE POSITIVE AND NEGATIVE DESIGN LOADS TO USE WHEN a —~
o ‘ N . oA REFERENCING THESE DOCUMENTS IN ACCORDANCE WITH THE GOVERNING CODE @ (P
- R.245"—~| ol S (? N . < AND GOVERNING WIND VELOCITY. FOR WIND LOAD CALCULATIONS IN v o =
S S %+j R.245 \\7 m ACCORDANCE WITH ASCE 7, A DIRECTIONALITY FACTOR OF Kd =0.85 SHALL BE o SN,
" = USED. =
\+§\ - 1.410 \+j\ 9. THE SYSTEM DETAILED HEREIN IS GENERIC AND DOES NOT PROVIDE h 8 #*
4.120" R 245,,/ .520" . INFORMATION FOR A SPECIFIC SITE. z E T
: . 4£.120 10. PERMIT HOLDER SHALL VERIFY THE ADEQUACY OF THE EXISTING STRUCTURE TO 220 5 <
4.510" 1.590" 910 . WITHSTAND SUPERIMPOSED LOADS. wBsct | w P
4.510 11.  ANCHORS SHALL BE INSTALLED PER MANUFACTURER RECOMMENDATIONS. =E§§ all T
MINIMUM EMBEDMENT AND EDGE DISTANCE EXCLUDES STUCCO, FOAM, BRICK, —H 2D |EE 2
WALL HINGE HEADER / SILL FLAT HINGE BUILD-OUT WALL HINGE AND OTHER WALL FINISHES. a8} II56 S
SCALE. HALF SIZE SCALE: HALF SIZE SCALE. HALF SIZE @ 12. USE OF THESE APPROVAL DOCUMENTS SHALL COMPLY WITH CHAPTER 61G15 OF z@i . |T o O
SCALE: HALF SIZE THE FLORIDA ADMINISTRATIVE CODE. BE|VLE
_ 13. THESE APPROVAL DOCUMENTS ARE SUITABLE TO BE APPLIED BY THE NoE |2 2%
. . . . . . . CONTRACTOR PROVIDED THE CONTRACTOR DOES NOT DEVIATE FROM THE o 212 9 <
1.606" 1.000" ), 3.000 L 3.000 1,1.000 : 750", 3.000 750 : CONDITIONS DETAILED HEREIN AND THE CONTRACTOR VERIFIES THAT THE é Slg s’
. 1 \n EXISTING STRUCTURE DOES NOT DEVIATE IN EITHER FORM OR MATERIAL FROM 3 2|22 =
e m m THE STRUCTURAL SUBSTRATES DETAILED HEREIN. g o|lo 53
ol 8 - - 14. ANY MODIFICATIONS OR ADDITIONS TO THESE APPROVAL DOCUMENTS WILL g < a e
1S VOID THE APPROVAL DOCUMENTS. H 5 52
N 190" < < 15. EACH SHUTTER ASSEMBLY SHALL BE PERMANENTLY LABELED WITH THE = o0
1 1yp . n . n SPECIFICATIONS LISTED BY THE FLORIDA DBPR. = < <
: > ) 5 0, 16. ALL EXTRUSIONS SHOWN SHALL BE 6063-T6 ALUMINUM ALLOY, U.O.N., WITH A a [l
o [ ol [ ] MINIMUM Fy OF 25 K.S.1. = &
5 5 17. ALL BOLTS AND WASHERS (EXCLUDING INSTALLATION) SHALL BE STAINLESS e S 9
STEEL WITH A MINIMUM TENSILE STRENGTH OF 60 K.S.I., U.O.N. POP RIVETS 5] g
. SHALL BE 1/4"@ OR 3/16"@ 5052 ALUM. ALLOY. N
b 18. MAXIMUM ALLOWABLE DESIGN PRESSURE IN CLOSED POSITION PROVIDING
0} WIND LOAD & IMPACT RESISTANCE = +57.2/-66.2 PSF FOR ALL SHUTTER WS
N " N SYSTEM CONFIGURATIONS SHOWN HEREIN. <zl
1.606" N 8.000 4.500 19. MAXIMUM ALLOWABLE DESIGN PRESSURE IN OPEN POSITION = +/- 28 PSF. N
20. THIS SHUTTER SYSTEM SHALL NOT BE INSTALLED IN ESSENTIAL FACILITIES AS [a
DEFINED IN ASTM E1996. X g
p 1796" ) 21 THE OPEN POSITION IN THE EVENT OF A WIND STORM EVENT. o oo T
/ "7" BAR - PROFILE & LAYOUT A 4-1/2""Z" BAR - PROFILE : oo
SCALE: TALF SIZE @ SCALE HALFSIZE 22. /7-\LL STEEL IN CONTACT WITH ALUMINUM SHALL BE PAINTED OR PLATED. 283 ||
] 080" ¥ VISIT ECALC.IO/TOWNCOUNTRY
{ TYP. FOR SITE SPECIFIC DEVIATIONS =
— LOCKING & MORE INFORMATION ABOUT THIS DOCUMENT ©
OR SCAN THIS QR CODE g
1.000" L, 3.000" L, 3.000" |,1-OOO“ : FLARED END :D VISIT ENGINEERINGEXPRESS.COM/STORE (2] g
. p A [os] FOR ADDITIONAL PLANS, REPORTS & RESOURCES é é/ g
ol o m| [-250"¢ SN T EQ. EQ. B
1K N & 7 pge g 1625 NN
o " T s (1-ANCHOR) " r ®.270" COPYRIGHT ENGINEERING EXPRESS®
Ll 190 A L 2.500" | .080 MIN. 20«
TYP. Q 2 -
: & = 23-64831
ey o|N of —f—.112" SCALE: NTS UNLESS NOTED
- o 7 e -—,
1.606" 8.000" - ,¢-75? ?-75 )% = - OFQ
3.250" S~
1.796" ANGLE L-PIN-1/4" @& (2-ANGHOR) '
SCALE: HALF SIZE SCALE : HALF SIZE "C" CLlPS SECTION A
@ SCALE : HALF SIZE )



https://ecalc.io/towncountry
Reception
Text Box

Reception
Text Box


c:\users\matthew\engineering express\production - documents\projects\23-\23-64831 multiple products 2023 fbc update fl 16219\work\2023 fbc\23-64831 - fl16219.1 - dwg.dwg

8/19/2023 12:43 PM MATTHEW

L 4.500" L COLBY BENNARDO, PE
NI 7 PE# 95197 CA# 9885 : i,
L4759 " " SPACE RESERVED FOR DIGITAL SEAL O ~ BENN ‘,
1.000" ), 2.500 L INFORMATION | \\\\o\, \,\CENSG ?O////’,
N WHEN DIGITALLY SEALED, THIS NOTE | \\\ '~.° <
S . - SHALL BE FULLY COVERED ON SHEET 1 I = No 95197 ‘. -
o : SEE Z-BAR ANCHOR SCHED. FOR e -
S S CONNECTION TO EXIST. STRUCTURE, TYP. ¥SEAL OF CERTIPVING ENGTNEER, VD | * o=
N ok FOR ALL Z-BARS DATE OF CERTIFICATION SHALL BE S
O—% ®) @90 SEE Z-BAR ANCHOR SCHED. FOR SHOWINTO THE RIGHT. | EoF Y3
Wi o " TYP CONNECTION TO EXIST. STRUCTURE, TYP. IN ALL CASES, CERTIFYING ENGINEER | LTI LNONN
g (] o _850 DETA”_ K E FOR ALL Z_BARS AND CERT OF AUTH AS LISTED ON STAMP I 7 loNAL a \g\
zZz n MAX. /" .0 i Vos312025
cn -~ = yOR K 8.50" TYP
W w ALT. CENTER CLIP (1/8" THICK) 1 + T MAX DETAIL DETAIL "g: \
55 @ SCALE: HALF SIZE —a ) . //_OR K1 A OR M1 | ] FL# 16219.1
g — AN 7 AY
) 0.128" ) = ey ) C ! a
wZz r0.307" X AN 7 m N
oo 0.050" -0.375" 2 P2 U P =
X ; r0.375" s i - — Z 530
wu 20.155" r0.402" : : % Ee 8 IO
55 - i O 500 g @GR = = oL
33 L = (Bor ~ b i [ w——— 1) IEVECRNE
38 ; . = \\ a8 MAX. Wep £F W
©m 0.105 R0.100 o e n DETAIL L . m L
. A [ / \ ] EACH SIDE 10 3.00 T ¢, -
1.792 R0.050" — . ]  — F CENTER R—\\ ————p— OR 4a f\m: [ MAX. Wos-%
2.118" 2 R LINE o (8 EACH SIDE ZE <o u
. ) \- \ [ o 1 Y C | -— <y 0]
2" BAHAMA BLADE o e I - . o - <
SCALE: HALF SIZE " wl Yg —=DETAIL L——— z [ A\ FCENTER OQ 25wz
A— 0-260 xl ©> —OR4a ] < ~H LINE Z>< EzZz2
R0.081" ; 0521 W p+ S U = — v gzl
@ ALT. HINGE PIN - 0.050 [ Fl QA N g ww oY
SCALE: HALF SIZE S 4 I i v x| 2> fsxz
LR0.100" I| o3 sl I Y N WY
" n < = R X 1 I ; oz
. R0.050 ol "2 V¥ I | v o u
t 3.663 — % o3 o
, 4.000" = G i h
100", 1.708” _,|100" ‘_‘T— —T‘_‘
[ f %" 4" BAHAMA BLADE — — e = 4 - al
195" | SCALE: HALF SIZE 50" _] \_@ ‘—'\_. N 5 5 . al o~
MAX. d| 2 ?(R@ RNV | T Sl 22
. m — — N N
STAINLESS STEEL 34.00” MAX. 34.00” MAX. 8.50" | IA.@ \_@ l—l\_. T ~©
o ASSEMBLY MAX. q 4 %RP@D +| 3%
H 3 . P |
2 2 :3209 HOLE SHUTTER WIDTH = 68.00" MAX. 34.00" MAX. 34.00" MAX. 34.00" MAX. é ?5’ ET
062" . Y a
wlg ol w v
050 NYLON TYPICAL ELEVATION 2 PANELS SHUTTER WIDTH = 102.00” MAX. :;f?; wile - &
: WHEEL SCALE: 172" = 1-0" =g:§u§ SIEE 2
" =
1.100 240" e TYPICAL ELEVATION 3 PANELS agiS|2 0 >
SCALE: /2" = 1'-0" 28 |15 T8
PANEL TRACK ROLLER ASSEMBLY (GO0R EL|YwE
SCALE: HALF SIZE SCALE: HALF SIZE 8.50" YP. 0_\/35 o< § <
MAX. /DETAIL K DETAIL d 2 E 2|20 w
SEE Z-BAR ANCHOR SCHED. FOR #—OR K1 Q:OR MA P SR =Nl [Shpraya)
. CONNECTION TO EXIST. STRUCTURE, TYP. 1 ' ' ™~ s X|n =%
_8.50 TYP. E[p FOR ALL Z-BARS N i e BB s g 2|35 o
Ax_ ,/—DETAIL Kg:DETAlL N 0 ) T g o1 2 = 8 E
y__ORKi1 ORM1 N ] | ] N -— || SEE Z-BAR ANCHOR SCHED. FOR E~| o 5 £
N 7 N _ N— CONNECTION TO EXIST. STRUCTURE, TYP. = @ Ww
8 /A xccn LS Crm % FOR ALL Z-BARS o < <
] \ ] no pd [0)] [a)
v} ¥ = (2) ANCHORS REQ'D AT EACH WALL HINGE. < @—\ F2 i m|l 28
_ ™~ SEE WALL HINGE ANCHOR SCHED. FOR = I - 4 I L SE— 3.00” = e
% — — CONNECTION TO EXIST. STRUCTURE : @-\ OETALL MAX. S o7
5 @G j  —— . — NENOL —OR dapsip N | AGK TP ~ EACH SIDE M
: I 3.00" 5 @ \ OF CENTER
i Oa OETAL L MAX. ARSI iz e i o LINE MEE
<lc:3 =on taopS | LAY ~EACH Sioe z | nSES ; SRS
ol . \ & LA & J | OF CENTER N | = \1’ BEAM, SEE BEAM SCHED. BEAM e
; [ *F N 7 o o UINE vl Ja 1/4-20 S.S. MACHINE SCREW INTO 1/4- /  MAY BE USED AT TOP OR BOTTOM, % Z|a
z N E @ or ALUMINUM RIV-NUT AT EACH VERTICAL—\; OR BOTH. SlEol ...
o . _ _ | o . A\N Z
vl Za Hl m X A\ DETAIL Q R
E N t % <|)<( \\ / Qo= .||,
||: e x_ N N ()] < z —p o] .l ¥ [« -
R 4 : ! v = T I =4 g
n 3 > - o O G z ;:( §
T f U
J = ~ E g8
s - + — 8.50" | @j \_® IRI&
< : o o : Max 1S of il
AN [ ] [ N e
8.50" IA_® \_® | l_l\_& 34.00” MAX. 34.00" MAX. 34.00”" MAX. 34.00" MAX. COPYRIGHT ENGINEERING EXPRESS®
MAX.” c[p (A90R() 7 i
TYP. SHUTTER WIDTH = 136.00" MAX. 23-64831
34.00” MAX. 34.00" MAX. 34.00” MAX. 34.00" MAX.
1 4 SCALE: NTS UNLESS NOTED
OF
SHUTTER WIDTH = 136.00" MAX. BEAM SPAN 9
TYPICAL ELEVATION 4 PANELS TYPICAL ELEVATION WITH BEAM (2, 3, OR 4 PANELS) @
SCALE: 172" = 7-0" SCALE: /2" = 1'-0" y




c:\users\matthew\engineering express\production - documents\projects\23-\23-64831 multiple products 2023 fbc update fl 16219\work\2023 fbc\23-64831 - fl16219.1 - dwg.dwg

8/19/2023 12:43 PM MATTHEW

COLBY BENNARDO, PE
PE# 95197 CA# 9885 | anig,
BANDING SHALL BE STUCCO OVER | W'y BENN /%,
CONCRETE, HOLLOW CONCRETE BLOCK OR A R FoRMATION | DN ‘("é‘E‘,‘v"” “,
WOOD TO PROVIDE SOLID BEARING SO veEisE o
SURFACE WHEN DIGITALLY SEALED, THIS NOTE I > o <
SHALL BE FULLY COVERED ON SHEET 1 I = No 95197 A st
: SEE Z-BAR ANCHOR SCHEDULE FOR SEE Z-BAR ANCHOR SCHEDULE FOR -
EMBED. \HT CONNECTION TO EXISTING STRUCTURE CONNECTION TO EXISTING STRUCTURE i P oS ST S, * : : z
l’ ; DATE OF CERTIFICATION SHALL BE Hl <
i SHOWN TO THE RIGHT. | EoF &<
e IN ALL CASES, CERTIFYING ENGINEER I OR“,?"...e\e\\\\
0 R@ OR@ AND CERT OF AUTH AS LISTED ON STAMP | 7S loNA\- € \\g\
’ A\ SIGNED:
ASSEMBLY SCREW SHALL BE #10 x 2" : ASSEMBLY SCREW SHALL BE #10 x 2" W oseizozs
HWH 410 HT. STAINLESS STEEL SCREW HWH 410 HT. STAINLESS STEEL SCREW (OUTSIDE) ——
XYLON COATING OR EQUIV. XYLON COATING OR EQUIV. | FL# 16219.1
ERAEE TR I INSTALLATION OF BLADES MAY BE INSTALLATION OF BLADES MAY BE - " # a
REVERSED REVERSED 2 mzf{g@f&% ' - | U] ~N
— INSTALLATION OF BLADES MAY BE — % 4 X 7 < ¢ =
I REVERSED \ NN < < 3385
] = - S
N 1/4-20 S.S. MACHINE SCREW INTO 1/4-20 g v " Cen o0 v
\ ALUMINUM RIV-NUT AT EACH VERTICAL  sfrrormrmaiins sroress 151622':4’?,3( ,;‘Lhﬂ,l{ﬁuﬂ"x' mm w="0
| _ 2| ANGLE (CONT.) I.IJuJ AT
o 6063 T5 ALLOY le.l o> %
TYPICAL TOP WALL MOUNT ALTERNATE TOP WALL MOUNT ) _m < g o %
SCALE: 3" = 1-0" SCALE: 3" = 1-0" > Z OQ 2¢ M=
N X LZzog
‘ &% 3538
(3) 3/16"® STAINLESS STEEL POP ww oY
RIVETS OR (2) 1/4"® 5052 ALUMINUM BEAM, SEE EDGE <45
POP RIVETS, TYP. EACH SIDE OF HINGE @‘\ BEAM SCHED. DIST e g
(3) 3/16"¢ STAINLESS STEEL POP ' - o
/ / ® BT\ RIVETS OR (2) 1/4"® 505p ALUMINUM SIDE CLOSURE DETAIL )
TYP. POP RIVETS, TYP. EACH JIDE OF HINGE SCALE: 3" = 1-0 Al
7/16"® x 3-1/2" LONG X o
STAINLESS STEEL BOLT INSTALLATION OF BLADES MAY BE < 2l =~
WITH NYLON LOCK NUT OR REVERSED z 2] [
ALTERNATE ALUMINUM PIN A | ol 9=x
(PART # 16) S 2| = v
MUNTIN(LYREPLACES ANY (2) COLONIAL ~ # | z3
BLADES(S ) A | wl 25
TYPICAL PANEL HINGE CONNECTION aa| 5=
SCALE: 3" = 1-0" 5 7/16"9 x 3-1/2" LONG MAX. uSsed | W P
S STAINLESS STEEL BOLT L"x1-1/2"MAX. x0.062 MIN. SEEiA|d = -
NOTE: BLADES MAY BE ¥ WITH NYLON LOCK NUT OR : ALUMINUM ANGLE (CONT.) Sl |EE 2
COLONIAL BLADBES OR x_ ALTERNATE ALUMINUM PIN PSR a G A TEA A EAEY] 6063 T5 ALLOY 22i31202
ARTICULATING BLADES. " (PART # 16) \ _ 3 z2: | T o
COLONIAL BLADES SHOWN ON (2) Lxt So Shs a ; BELE|VwE
THIS PAGE. SEE SHEET 4 FOR EACH SIDE % L C‘_\/ E o < 0 %
TYPICAL ARTICULATING 5 ; e 2129 L
BLADE DETAIL. i ; 2 9|8¢8
N : El 0z =
N 3 g 2|35 o
(&) 1/4-20x1" MACHINE SCREW INTO [-| £z = 2
1/4-20 ALUMINUM RIV-NUT v EDGE S| 8o
i Il : DIST. hl S35
chF:CLéL ;RAP 1|V|00UNT @ ALTERNATE SIDE CLOSURE DETAIL 4 22
—S7 10" —S— o~ o
TYPICAL CENTER CLIP CONNECTION ALTERNATE BLADE SCALE: 37 = 1-0 s| 22
SCALE: 3" = 1-0" SCALE: 3" = 1-0" <
INSTALLATION OF BLADES MAY BE INSTALLATION OF TSIDE TSIDE MEE
- REVERSED BLADES MAY BE (OUTSIDE) 3/16" 5052 ALUMINUM POP (OUTSIDE) AR
YOG REVERSED | RIVETS @ 24" 0.C. MAX | CINES
. L s
Oy | s o
@_\ TYP VP ElE
. . 4 O|d
) alo|=
—l— 5" MAX x1-1/2" x0.062 MIN. 5"MAX. x0.062 MIN.
— ALUMINUM ANGLE (CONT.) ALUMINUM PLATE (CONT.)
U 6063 T5 ALLOY 6063 T5 ALLOY 5
erErarET) (&) 1/4-20 RIV-NUTS g
A 10 ANY ANCHOR PER ANY 0|3
- ANCHOR SCHEDULE AT 24" 0.C. g3
[C) PN 258
[m ) 44 N = (SR &]
H w
1) Ym] N |22 ..
'.ai COPYRIGHT ENGINEERING EXPRESS®
. ’
EMBED. N\ | S#16x1” STAINLESS STEEL SMS FLAT [ \C#16x1" STAINLESS STEEL SMS FLAT 23-64831
¥{|  HEAD OR ROUND HEAD | HEAD OR ROUND HEAD : SCALE TS UNLESS NOTED
'.t ‘l_
& 4 @ SLIDING PANEL SIDE CLOSURE DETAIL SLIDING PANEL SIDE ALTERNATE CLOSURE DETAIL OF@
NTS. NTS.
TYPICAL BOTTOM WALL MOUNT ALTERNATE WALL MOUNT @
SCALE: 3" = 1-0" SCALE: 3" = 1-0"
J




c:\users\matthew\engineering express\production - documents\projects\23-\23-64831 multiple products 2023 fbc update fl 16219\work\2023 fbc\23-64831 - fl16219.1 - dwg.dwg

8/19/2023 12:43 PM MATTHEW

7/16"® x 3-1/2" LONG
STAINLESS STEEL BOLT
WITH NYLON LOCK NUT OR
ALTERNATE ALUMINUM PIN
(PART # 16)

.50"

50"

Il / —.625°

ALTERNATE ALUMINUM PIN,
6" LONG (PART # 16)

(®or —\

=T

..\
7

3.00"

50"

50"

50"

/ —.625°

O

¢

(_/

J
3.00"

50"3\:

(2) ANCHORS REQUIRED AT EACH WALL J
HINGE. SEE WALL HINGE ANCHOR
SCHEDULE FOR CONNECTION TO
EXISTING HOST STRUCTURE

625" —

LB) 3/16"® STAINLESS STEEL
POP RIVETS OR (2) 1/4"¢
5052 ALUMINUM POP RIVETS,
TYP. EACH SIDE OF HINGE

TYPICAL WALL HINGE

SCALE: 3" = 1"-0"

WALL HINGE ANCHOR

SCHEDULE:

TO 3192 PSI MIN. CONCRETE:

(®or —\

£

@

E—

.50”jl—\:

#10 x 2" HWH 410 HT.

[e)]
a =
W W B L) 1/4-20x1" MACHINE SCREW INTO NYLON LOCK NUT OR " " A N o
o 1/4" ITW SS TAPCON W/ 13" MIN. STAINLESS STEEL SCREW STAINLESS STEEL SCREW ( 50 50 ol 89
EMBEOMENT AND 2-1/2" MIN. EDGE XYLON COATING OR XYLON COATING OR 174-20 ALUMINUM RIV-NUT ALTERNATE ALoHREIN £ 2 S8
¢ 5/16" ITW TAPCON XL W/ 1-3/4" EQUIV. WITH %" NYLON EQUIV. WITH %" NYLON . /_®.62 v I Z 5%
MIN. EMBEDMENT AND 2-1/27 MIN. ~—END CAP & SPACER, TYP. ~—END CAP & SPACER, TYP. ’II, 4.00 ,li, ’ @—\ 2| Ex
| - o[ |5 Byl i
TO GROUT-FILLED CONCRETE BLOCK: so A L A o Eg% & ot i @
"MIN, EMBEDMENT AND 201/ 2 MIN S : 2 . 2 SiiS|EE 2
EDGE DISTANCE. : ey 938" S (3) 3/16"0 STAIN(LE)SS STEEL | o o a8j > 5 2
e 5/16" ITW TAPCON XL W/ 1-3/4" : POP RIVETS OR (2) 1/4"0 28| D
MIN. EMBEDMENT AND 4" MIN. EDGE L " 938" L m 5052 ALUMINUM POP RIVETS, 625" BEIV LK
DISTANCE. - - 625" 625 TYP. EACH SIDE OF HINGE C‘_\/35 N ES-3
= E <|Z O w
ey R pIN. WOOD HOST CHT)YPICAL 2" ARTICULATING LOUVER ATTACHMENT /o NTYPICAL 4" ARTICULATING LOUVER ATTACHMENT TYPICAL CENTER CLIP TYPICAL PANEL HINGE 229|902
e 1/4" LAG SCREWS WITH 1-1/2" CALE: N.T.S. CALE: N.T.S. SCALE: 3" = 1-0" SCALE: 3" = 1-0" 8 0|02 3
MIN. THREAD PENETRATION AND 3/4" <|°s &
MIN. EDGE DISTANCE. H £zl 2%
e #14 WOOD SCREW OR SMS W/ = 2 l'?)
1-1/2" MIN. THREAD PENETRATION — @
AND 3/4" MIN. EDGE DISTANCE. bl S8
L —_
z| 2%
OCC g| 22
(INSIDE) S =
(3) 3/16"® STAINLESS STEEL WS
(OUTSIDE) POP RIVETS OR (2) 1/4"0 (OUTSIDE) 4 (OUTSIDE) SOLID SIDE Ak
5052 ALUMINUM POP RIVETS, —  ——/ — . mEmE T ] /—m LN
SOLID SIDE TYP. EACH SIDE OF HINGE SOLID SIDE 3 3 /_m S
Y, P4
CB@;> oz OCT ' Sn /a0 |
| i | + """""" £lnlo
i L LAY |
i Ak i i A i
\ \ LOUVERED SIDE (OUTSIDE) (&) 1/4-20x1" MACHINE 8
. SCREW INTO 1/4-20 &
LOUVERED SIDE LOUVERED SIDE (INSIDE) (1‘;21’2‘5'/38614"5"“';'&5 35?5‘” INTO ALUMINUM RIV-NUT 28
(INSIDE) (INSIDE) } - AR
@ TYPICAL PANEL HINGE CONNECTION @ TYPICAL CENTER CLIP CONNECTION @ ALTERNATE CENTER CLIP CONNECTION SLIDING PANEL OFFSET CLIP z2/g
SCALE: 3" =1-0" SCALE: 3" = 1-0" SCALE: 3" = 1-0" N.T.S. EE ]
COPYRIGHT ENGINEERING EXPRESS®
23-64831
SCALE: NTS UNLESS NOTED
OF
4 :

(2) 5/16" ITW TAPCONS AT EACH WALL HINGE. J

(3) 3/16"¢ STAINLESS STEEL
POP RIVETS OR (2) 1/4"¢
5052 ALUMINUM POP RIVETS,
TYP. EACH SIDE OF HINGE

ALTERNATE STACKED WALL HINGE

SCALE: 3" = 1"-0"

_\/\_

#10 x 2" HWH 410 HT.

ALTERNATE ALUMINUM PIN,
6" LONG (PART # 16)

50"

COLBY BENNARDO, PE
PE# 95197 CA# 9885

SPACE RESERVED FOR DIGITAL SEAL
INFORMATION

WHEN DIGITALLY SEALED, THIS NOTE
SHALL BE FULLY COVERED ON SHEET 1

WHEN PRINTED OR PHYSICALLY SEALED,
SEAL OF CERTIFYING ENGINEER, AND
DATE OF CERTIFICATION SHALL BE
SHOWN TO THE RIGHT.

IN ALL CASES, CERTIFYING ENGINEER
AND CERT OF AUTH AS LISTED ON STAMP

e,

77,/ONAL
Moy

N\
© \WSIGNED
08/21/2023

THIRD HOLE LOCATION FOR : \

RIVET T~

(3) 3/16"® STAINLESS STEEL
POP RIVETS OR (2) 1/4"¢

—+—0

5052 ALUMINUM POP RIVETS,
TYP. EACH SIDE OF HINGE

625"~

ALTERNATE STACKED PANEL HINGE

SCALE: 3" = 1"-0"

1/16"® x 3-1/2" LONG

STAINLESS STEEL BOLT WITH

FL# 16219.1

ENGINEERING

gEXPRE SS*

POSTAL ADDRESS:
401 W. ATLANTIC AVE R10 BOX 219

DELRAY BEACH, FL 33444
ENGINEERINGEXPRESS.COM




COLBY BENNARDO, PE
PE# 95197 CA# 9885 | "
\\\\\\| ’II///
SPACE RESERVED FOR DIGITAL SEAL [ \\\\ N BENy, /”/,
INFORMATION | ~"\,\CENS'5'"...O /,//
WHEN DIGITALLY SEALED, THIS NOTE | [~ <
SHALL BE FULLY COVERED ON SHEET 1 No 95197 - =
WHEN PRINTED OR PHYSICALLY SEALED, I * =
R e PR ursioe) B &
SHOWN TO THE RIGHT. EoF &3
HINGE DEPTH (OUTSIDE) LOUVERED SIDE IN ALL CASES, CERTIFYING ENGINEER | 2! ORlQ?""(’\e\\\\
(OUTSIDE) AND CERT OF AUTH AS LISTED ON STAMP | ™ lONA\- € \\\;GNED
(OUTSIDE) 50" 50" ///lu“”\\\ Vosr1/2023
.50" SOLID SIDE
e
SOLID SIDE
(8) MAX. | FL# 16219.1

. LOUVERED SIDE MAX.
9
oo/ R[5

c:\users\matthew\engineering express\production - documents\projects\23-\23-64831 multiple products 2023 fbc update fl 16219\work\2023 fbc\23-64831 - fl16219.1 - dwg.dwg

8/19/2023 12:53 PM MATTHEW

= e 1 : I O 3
L &F T | 0\ \ene 2
[ ] ™ | | ; CH® Z x313
P R IR R R vt } PTG A i AT R PN D 1 13 ;‘w;'z({: ,:‘X‘b"‘.‘;"; OB AR REPIR T R 8 .;.u 3 »- 4 ',:‘:-@ R AT A A D TR NS ’ SOLID SIDE Ee ..o L)-
? | : | 4 | 3 N vwead
N _ : W ; LOUVERED SIDE _ 4 (INSIDE) Wep BF 0
& SOLID SIDE a B a ¥ m o W
w : LOUVERED SIDE \ 5 a 3 a A W o oL
o ; (INSIDE) H (INSIDE) & :\—HINGE AND HINGE PLATES TO PROVIDE ot -2
& i (INSIDE) ' 5 \HINGE AND HINGE PLATES TO PROVIDE® Nij B MAX. I/ GAF BETWEEN SHUTTER Zm Q< (:5 n
N HINGE AND HINGE PLATES TO PROVIDE I\HINGE AND HINGE PLATES TO PROVIDE ' 1 MAX. 174" CAP BETWEEN SHUTTER B [{ AND STUCCO OR WOOD BANDING = <0z0
. MAX. 1/4" GAP BETWEEN SHUTTER 1 MAX.1/4" GAP BETWEEN SHUTTER R AND STUCCO OR WOOD BANDING ; (_DD_ IEWZ
: AND STUCCO OR WOOD BANDING " AND STUCCO OR WOOD BANDING & Ez0F
EDGE 22X 5 <>
DIST. EDGE EDGE I.ulu oOE é %
f [a
2) ANCHORS REQ'D AT EACH WALL HINGE: (2) ANCHORS REQ'D AT EACH WALL HINGE- DIST. (2) ANCHORS REQ'D AT EACH WALL HINGE. DIST. 7 < = =
SEE WALL HINGE ANCHOR SCHED. FOR SEE WALL HINGE ANCHOR SCHED. FOR SEE WALL HINGE ANCHOR SCHED. FOR =N g
CONNECTION TO EXIST. STRUCTURE CONNECTION TO EXIST. STRUCTURE CONNECTION TO EXIST. STRUCTURE ST
TYPICAL WALL HINGE CONNECTION ALTERNATE WALL HINGE CONNECTION ALTERNATE WALL HINGE CONNECTION @ ALTERNATE WALL HINGE CONNECTION =
SCALE: 3" = 1'-0" SCALE: 3" = 1-0" SCALE: 3" = 10" SCALE: 3" = 10"
(o))
o g,)‘ —
USE 2X4X1/4 ANGLE FOR 3" & 4” BEAMS, A N o
50% OF BEAM USE 2X5X1/4 ANGLE FOR 5” BEAMS. 1/4-20 S.S. MACHINE SCREW INTO 1/4-20 ™ SRS
WIDTH MIN. _TYP. TOP AND BOTTOM OF BEAM } ALUMINUM RIV-NUT AT EACH VERTICAL JAMB o 9
BEAM SCHEDULE k 2.00 A ul &%
CL BOLT 3 i
WALL BRACKET ANCHOR TYPES " CL ANGLES ¢ 0 8 <
1.600 wg? D a3
SHUTTER| BEAM | CONCRETE | HOLLOW WOOD W | - L
BEAM SIZE " T
SPAN SPAN (3323 PSI | CONCRETE | (G=0.42 4%‘.75 MIN. _ " :;%g g u E 4
75 =~%2i2 | T g
MIN) BLOCK MIN.) E @ ® ag§ SI>6 >
e 8-1.75" 6'-0" AB,C A B,C B,C | Q-at E & o %
"x3"x1/8" " qn 1 an AV \ © L
6'-8 6'-8 AB C A,B,C B, C e |2ac
©06376) | o | o | Ao | Asc | Bo ® C\/BE 2|29 &
8'-1.75" 7'-5" A/B,C AC B,C 22|90 8
2"x4"x1/8" 6'-8" 8-1" A, B, C A C B, C —.75" ] < m [e =< ;
(6063-T6) 4 e 8 2|97 @
5'-10 8-6 A B, C A,B,C B,C BEAM. SEE ® ® g < =
o w _an . @] 3
2AEXUE | o oo ee A C 5 ¢ BEAM SCHED. ANCHOR E pe Rl 25
6063.T6) | 07 9-5 A.B,C A C B.C SPECIFICATIONS. =l 22
5'-10" 9-11" A B,C A C B,C BEAM SPAN ] g a
WETT T EMBED. & <
8-1.75 11'-3 A.B,C c B.C ° = z 3
2"x4"x1/4" 68" 191" AB C c B C (1) 7/16"® MACHINE [BOLT WITH W S o7
(6061-T6) Py o . ’ {2) ANCHORS REQUIRED EACH " LOCK NUT <
5-10 126 AB,C A C B,C ANGLE, SEE BEAM SCHEDULE 1M()|r(\)1 300" Q0 EDGE DISTANCE
(SIDE VIEW) ANCHOR SPECIFICATIONS. : : SEE BEAM SCHEDULE MEE
FRONT VIEW) ANCHOR SPECIFICATIONS 5|x
ANCHOR TYPES FOR USE WITH BEAM ( L5l
SCHEDULE, (4) ANCHORS PER BEAM END TYPICAL WALL BRACKET CONNEGTION DETAIL (CONCRETE & HOLLOW o=
SCALE: 3" =1-0" CONCRETE BLOCK) a
A. 1/4" ALL POINTS SOLID-SET ANCHORS 22
FOR CONCRETE: 7/8" MIN. EMBEDMENT, 3" MIN. EDGE 5 00" 5lzlo
DISTANCE, AND 3" MIN. SPACING. k : L 1/4-20 $.5. MACHINE SCREW INTO 1/4-20 2.0,
FOR HOLLOW CONCRETE BLOCK: 7/8" MIN. EMBEDMENT, 3" ’l |CL ANGLES 1 ALUMINUM RIV-NUT AT EACH VERTICAL JAMB & g/d
MIN. EDGE DISTANCE, AND 3" MIN. SPACING. - | cLBoLT
B. 1/4" EYEWALL ARMOR MALE BOLT OR DEWALT -
MALE/FEMALE PANELMATE 2
FOR CONCRETE: 2" MIN. EMBEDMENT, 3" MIN. EDGE oS
DISTANCE, AND 3" MIN. SPACING. " < S,
FOR HOLLOW CONCRETE BLOCK: 1-1/4" MIN. EMBEDMENT, 2|88
3" MIN. EDGE DISTANCE, AND 3" MIN. SPACING. b33
FOR WOOD: 1-7/8" MIN. EMBEDMENT. 3/4" MIN. EDGE el
DR VA0 2X4X1/4 ANGLE OR 2X5X1/4 ANGLE. COPYRIGHT ENGINEERING EXPRESS®
DISTANCE, 1.5" MIN. SPACING. - ' 6063-T6 ALUMINUM ANGLE, TYP. TOP
C. 1/4" ITW TAPCON SG AND BOTTOM OF BEAM 23-64831
FOR CONCRETE: 1-3/4" MIN. EMBEDMENT, 2-1/2" MIN. EDGE BEAM SPAN4-8 SCALE: NTS UNLESS NOTED
DISTANCE, 3" MIN. SPACING. J 10074 1125" MIN OF
FOR HOLLOW CONCRETE BLOCK: 1-1/4" MIN. EMBEDMENT, MIN 150" : : 9
2-1/2" MIN. EDGE DISTANCE, 3" MIN. SPACING. (FRONT VIEW) £y T EDGE DISTANCE
FOR WOOD: 1-1/2" MIN. EMBEDMENT, 3/4" MIN. EDGE (wooD) ' SEE BEAM SCHEDULE
DISTANCE, 1.5" MIN. SPACING. ANCHOR SPECIFICATIONS )




c:\users\matthew\engineering express\production - documents\projects\23-\23-64831 multiple products 2023 fbc update fl 16219\work\2023 fbc\23-64831 - fl16219.1 - dwg.dwg

8/19/2023 12:43 PM MATTHEW

COLBY BENNARDO, PE
Z ’ PE# 95197 CA# 9885
SPACE RESERVED FOR DIGITAL SEAL
INFORMATION

WHEN DIGITALLY SEALED, THIS NOTE
SHALL BE FULLY COVERED ON SHEET 1

CLOSED POSITION

SEAL OF CERTIFYING ENGINEER, AND
- gﬁ DATE OF CERTIFICATION SHALL BE
lHI_ -|= SHOWN TO THE RIGHT.

I [ |

g o] IN ALL CASES, CERTIFYING ENGINEER
< AND CERT OF AUTH AS LISTED ON STAMP
.

570 N
’//loNA‘- a\\\\S\GNED
TUrp WY 082112023

FL# 16219.1

(2) #1Lx1" STAINLESS
STEEL SMS

" \

SEE SHEET 9 FOR ALL PLAN VIEW
INSTALLATION POSITIONS

BB W V5 B TP SRR R AK

| AN

(1) 5/16"® ITW TAPCON XL

PLAN Vl EW 1 OR (2) 1/4"¢ ITW TAPCON

OR (2) 1/4"¢ SHEET METAL SCREW
i — o N OR (2) 1/4"¢ LAG SCREW

S C A |— E ' 1 1 / 2 - 1 O SEE ANCHOR SCHED. FOR MIN.
EMBED. & EDGE DIST.

(2) #14x1" STAINLESS
STEEL SMS

gENGINEERING

EXPRESS®
POSTAL ADDRESS:

401 W. ATLANTIC AVE R10 BOX 219

EQ
DELRAY BEACH, FL 33444

ENGINEERINGEXPRESS.COM

N AN

- PLATE 0.090"x1"x3-1/2" WITH (2)

““'#' 1/4"® RIV-NUTS (TOP & BOTTOM . @4kt STANLESS R ) 11178 ITW TAPCON
> | OF PANELS) © ) R ) "0 LAG SCREW

il 1 N N A EMBeD. & EDGE DT

I
RN T e Fat s

P I TR Tl LN O N T L S I R TN T

(1) 5/16"® ITW TAPCON XL
OR (2) 1/4"¢ ITW TAPCON
OR (2) 1/4"¢ SHEET METAL SCREW

ADMlon of ABC SUpply Co, Ina.

400 WEST MCNAB ROAD, FT. LAUDERDALE, FL 33309

AT

COLONIAL SHUTTER
FLORIDA BUILDING CODE EIGHTH EDITION (2023)

]! \r ,..(‘,f: mnlulstlmsg
Wholesale Aluminum and Building Products

OR (2) 174"® LAG SCREW (HINGES NOT SHOWN FOR CLARITY)
SEE ANCHOR SCHED. FOR MIN.
v EMBED. & EDGE DIST. (DOUBLE "C" CLIP) (SINGLE "C" CLIP)
NOTE:
CLIPS REQ'D TOP & BOTTOM FOR SPANS > 69”. ONE CLIP REQ'D AT MID-SPAN (+3") FOR
— SPANS < 69".

OPEN POSITION LOCK W/ "C" CLIP

PLAN VIEW 2 SCALE 37 = 7-0°
SCALE: 1-1/2" = 1-0"

FLORIDA STATEWIDE APPROVAL (FSA FL#16219.1

w olm
(=4
HAREHEE
(2) #14x1" STAINLESS aRs
Z-BAR ANCHOR SCHEDULE: o STEEL SMS glzlo
TO 3350 PSI MIN. CONCRETE: 2|9
o 174" EYEWALL ARMOR MALE BOLT OR DEWALT OPEN POSITION LOCK Ll L
MALE/FEMALE PANELMATE W/ 2" MIN. EMBEDMENT AND .
2-1/2" MIN. EDGE DISTANCE. ANCHOR SCHEDULE: - \\ Z183
« 174" ITTW TAPCON SG W/ 1-3/4" MIN. EMBEDMENT AND SlOIZ| .||,
2-1/2" MIN. EDGE DISTANCE. e e ) )
A AL FOINTS SGLID SEF W/ 7/8" MIN. EMBEDMENT WITH "C" CLIPS OR DOUBLE "C" CLIPS: WITH BULLET CLIPS:
AND 2" MIN. EDGE DISTANCE. TO 2899 PSI MIN. CONCRETE: TO 3192 PSI MIN. CONCRETE: g
. e (1) 5/16" ITW TAPCON XL W/ 1-3/4" MIN. o (1) 1/4" ITTW SS TAPCON W/ 1-3/4" MIN. ) . 2
TO HOLLOW CONCRETE BLOCK: EMBEDMENT AND 2" MIN. EDGE DISTANCE. EMBEDMENT AND 2-1/2" MIN. EDGE DISTANCE. (1) 5/16"® ITW TAPCON XL g
o 1/4" EYEWALL ARMOR MALE BOLT OR DEWALT OR (1) 1/4°8 ITW TAPCON 0|2
MALE(FEMALE PANELTIATE W/ 1-1/4" MIN. EMBEDMENT AND TO 2192 PSI MIN. CONCRETE: TO HOLLOW CONCRETE BLOCK: OR (1) 1/4"® WOOD SCREW é Slw
IN. : . e (2) 1/4" ITW SS TAPCON W/ 1-3/4" MIN. e (1) 5/16" ITW TAPCON XL W/ 1-3/4" MIN. S8
'2{/1‘}2..IT|\)|’\I’NTAEP§8|'E\‘gg}%&l/“ MIN. EMBEDMENT AND EMBEDMENT AND 1" MIN. EDGE DISTANCE. EMBEDMENT AND 4" MIN. EDGE DISTANCE. SEE ANCHOR SCHED. FOR MIN. z3lg
2 : : " EMBED. & EDGE DIST. 222,
¢ 174" ALL-POINTS SOLID SET W/ 7/8" MIN. EMBEDMENT TO HOLLOW CONCRETE BLOCK: TO G=0.42 MIN. WOOD HOST STRUCTURE:
AND 2" MIN. EDGE DISTANCE e (1) 5/16" ITW TAPCON XL Wé1-3/§1" Mlg. e (1) 1/4" WOOD SCREWS OR SHEET METAL SCREWS COPYRIGHT ENGINEERING EXPRESSS
_ ) EMBEDMENT AND 4" MIN. EDGE DISTANCE. W/ '1-3/4" MIN. THREAD PENETRATION AND 374" MIN.
TO G=0.42 MIN. WOOD HOST STRUCTURE: _
e 1/4" HANGER BOLT WITH 1-1/2" MIN. THREAD TO G=0.42 MIN. WOOD HOST STRUCTURE: EDGE DISTANCE. 23-64831
P YL WAL ARMOR MANE Do R DA * (2) 1/4" WOOD SCREWS OR SHEET METAL SCREWS NOTE: SCALE: NTS UNLESS NOTED
. ) W/ 1-3/4" MIN. THREAD PENETRATION AND 374" MIN. BULLET CLIPS SPACED 24" MAX
MALE/FEMALE PANELMATE W/ 1-7/8" MIN. EMBEDMENT AND oy T : oF
3/4" MIN. EDGE DISTANCE. <051/ LAG SCREWS W/ 1-1/2" MIN. THREAD FROM ENDS AND 48" 0.C. MAX 9
'3}{{.‘. aTuV TAPCON SG Y/ L-1/2" MIN. EMBEDMENT AND PENETRATION AND 3/4" MIN. EDGE DISTANCE.
NOTE: USE (3) ANCHORS PER 8" Z BAR AND ggi'\lEOgITl9N1|:%CK W/ BULLET CLIP
(2) PER 4.5" Z BAR ‘ = Y,




c:\users\matthew\engineering express\production - documents\projects\23-\23-64831 multiple products 2023 fbc update fl 16219\work\2023 fbc\23-64831 - fl16219.1 - dwg.dwg

8/19/2023 12:43 PM MATTHEW

COLBY BENNARDO, PE
PE# 95197 CA# 9885

SPACE RESERVED FOR DIGITAL SEAL
INFORMATION

WHEN DIGITALLY SEALED, THIS NOTE
SHALL BE FULLY COVERED ON SHEET 1

WHEN PRINTED OR PHYSICALLY SEALED,
SEAL OF CERTIFYING ENGINEER, AND
DATE OF CERTIFICATION SHALL BE
SHOWN TO THE RIGHT.

IN ALL CASES, CERTIFYING ENGINEER
AND CERT OF AUTH AS LISTED ON STAMP

< \
’//lONA‘- a\\\\S\GNED
TUrp WY 082112023

. 0 FL# 16219.1
6.00 Vi v1
Tvp ,/DETAILK | 4 | 2 o
. y1|’ | -Z_OR K1 A ] [ ] m =
- 1 =
»H Z 5330
—_ —_ Ee L@y O
— 9)]
; 'E mm % 8 MW\
g GON z 5 z 5 Wey G250
P2 Z g j - —— i — " i W 3% o
s . S—
T DETAIL L - - Zn: 9,:<u$
Gn e 7 o | [one S | EZE0 3 : oo Sogd
(6 oR OR 4a || S u @) < < IERE
_\\ (1) . AT o o = Z a4
(® D)= . < Lo ywn(dd ZX 5 < > ul
[ ! HETI 3 q 2 9 9 W o2y
SuZ : = : : k52
m— [m)] .
5 m m) =0z
(") X X —
X N < < =
N I > b3 A
- . g v ! 2 3
v T < 2: ?: [e)]
5 2l 85
- 3 | - | - °| 88
s, oL, [T
. | — || > 9
— " r . ] [ \ ] wr o ﬁ
— L . 6.00 \_® o = E T
6.00" — — — — \_Q =
Typ 9 \-® — TYP. 37" SLIDING | | 37" SLIDING 37" SLIDING | | 37" SLIDING ggg 21 2&
: 37" SLIDING | | 37" SLIDING 34.00" MAX. PANEL, MAX | | PANEL, MAX PANEL, MAX | | PANEL, MAX B
34.00" MAX. | 34.00" MAX. PANEL, MAX | | PANEL, MAX 1 selo LE S
i’ i( =2§§ |55 S
S
ELEVATION: 1 HINGED AND 2 SLIDING PANELS ELEVATION: 2 SLIDING PANELS N e |2ac
ELEVATION: 2 HINGED AND 2 SLIDING PANELS SCALE: N.T.S. SCALE: N.T.S. ) 2239 .
SCALE: N.T.S. § 31598
< |2 O e
£ olgzs
=) [1N]
vip vip h £ % = <
[ ] [ ] s 8 ('7)
SLIDING PANEL TRACKS EXTEND bl 538
— BEYOND FOR SHUTTER STORAGE — 2l 2%
IN NON-STRUCTURAL OPEN >l 99
T POSITION, TYPICAL. T o| T
Z{SHv) P2 Z o P2 Z G} ¥
i i N i — w ] - 4 ] - & wlgle
FDETAIL L ——— - FDETAIL L, ——— - 'g s8]
COR 4a - g,\%@ W CL1, OR 4a§/\+ﬁé@@_ w @
R : =T N 2z)s
L | L 0 L o v 3218]..].
N[ 2 N[ 2 =
— a - =) =
3 3 Q|O|=| ||
w0 (%]
X X
< < =
P b 8
&~ =~ 0|3
o)} o)} é e
<88
ripr— Tpr—] g322
COPYRIGHT ENGINEERING EXPRESS®
[ AN ] [ AN ]
7 — 7 —_ -
37" SLIDING | | 37" SLIDI 37" SLIDING | | 37" SLIDING 37" SLIDI 37" SLIDING | | 37" SLIDING 23-64831
PANEL, MAX | | PANEL, MAX PANEL, MAX | | PANEL, MAX PANEL, MAX PANEL, MAX | | PANEL, MAX SCALE: NTS UNLESS NOTED
NOTE: SLIDING PANEL oF
CONSTRUCTION SAME AS 9
ELEVATION: 4 SLIDING PANELS HINGED PANELS. @ ELEVATION: 3 SLIDING PANELS
SCALE: N.T.S. SCALE: N.T.S.




/////////
ANCHORS PER
“LEG OUT"
SLIDING PANEL
TRACK ANCHO
SCHEDULE:
JANIIIIIY

DIRECTION

2/

RS

A\

ALTERNATE LEG

' 1/4"-20 MACHINE SCREW W
NUTAT 12" 0.C,, TYP.

SLIDING PANE
TRACK ANCHO
SCHEDULF

)

Z

=
I

WHEEL CARRIAGE

=

s

ASSEMBLY AT 3"
FROM EACH END AND
10.25 " 0.C., TYP.

N—1/4-20 RIVNUT
AT EACH WHEEL
CARRIAGE

c:\users\matthew\engineering express\production - documents\projects\23-\23-64831 multiple products 2023 fbc update fl 16219\work\2023 fbc\23-64831 - fl16219.1 - dwg.dwg

TYP. [\

aO.CC

TYP.

\/\

<@(”

SLIDING PANEL TOP TRACK

SCALE: N.T.S.

WS
N

TYP.

7
it
7 " ANCHORS PE
“LEG IN
7 SLIDING PANE
7 TRACK ANCHOR’,
SCHEDUL

/

/

/
/,

///

N

|

T—1/4-20 RIVNUT
AT EACH WHEEL
CARRIAGE

|

i

4

"LEG OUT*

7 SLIDING PANEL

7 TRACK ANCHO
SCHEDUL

VIt
; ANCHORS PEl?//v//

HEQ. Ul EQ.—+

S

i

2x4x0.125
ALUMINMUM
ANGLE

2,

T

DIRECTION

1/4"-20 MACHINE
SCREW W/ NUTAT
12" 0.C, TYP.

ALTERNATE LEG

AN ]

\—WHEEL
CARRIAGE
ASSEMBLY AT
3" FROM EACH
END AND 10.25 *
0.C, TYP.

SLIDING PANEL BOTTOM TRACK

SCALE: N.T.S.

SLIDING PANELS CLIPPED
TOGETHER IN LOCKED POSITION

COLBY BENNARDO, PE
PE# 95197 CA# 9885

SPACE RESERVED FOR DIGITAL SEAL
INFORMATION

WHEN DIGITALLY SEALED, THIS NOTE
SHALL BE FULLY COVERED ON SHEET 1

WHEN PRINTED OR PHYSICALLY SEALED,
SEAL OF CERTIFYING ENGINEER, AND
DATE OF CERTIFICATION SHALL BE
SHOWN TO THE RIGHT.

IN ALL CASES, CERTIFYING ENGINEER
AND CERT OF AUTH AS LISTED ON STAMP

léN L.a o
/,//””ﬁn\\ \WSIGNED

08/21/2023

©p

)

AT SLIDING PANEL LOCKING EDGE,
PROVIDE 1/4-20 BOLT AND NUT IN FRONT
OF WHEEL CARRIAGE. BOLT SHALL GO
THROUGH ANGLE AND TRACK TO HOLD
PANELS STATIONARY IN CLOSED POSITION.

WHEEL CARRIAGE, TYP.—/

WHEEL CARRIAGE STOPS FOR SLIDING PANELS

SCALE: N.T.S.

1"x1"x0.062" MIN.
ALUMINUM ANGLE,
FASTENED TO
PANEL WITH 3/16"
5052 ALUMINUM
POP RIVETS @ 24"

WITH ANGLES

1"x0.062" MIN. ALUMINUM
PLATE, FASTENED TO PANEL
WITH 3/16" 5052 ALUMINUM
POP RIVETS @ 24" 0.C. MAX

WITH PLATES

SLIDING PANEL INTERLOCK

n n . " " . O0.C.MAX
LEG IN" SLIDING PANEL TRACK ANCHOR SCHEDULE: LEG OUT" SLIDING PANEL TRACK ANCHOR SCHEDULE:
HOST ANCHOR SLIDING PANEL VERTICAL SPAN HooT oo STIONG PANEL VERTICAL SPAR SCALE
STRUCTURE 36" 48" 60" 72" 84" o7" STRUCTURE 36" 48" 60" 72" 84" 97"
1/4" ITW SS TAPCONS W/ 1-3/4" MIN. 1/4" ITW SS TAPCONS W/ 1-3/4" MIN.
EMBEDMENT AND 2-1/2" MIN. EDGE | 16" 0.C. | 16" O.C. | 16" O.C. | 16"0.C. | 16" 0.C. | 16" O.C. EMBEDMENT AND 2-1/2" MIN. EDGE | 16" 0.C. | 13"0.C. | 10"0.C. | 9"0.Cc. | 7"0.C. | 6"OC.
CONCRETE DISTANCE CONGRETE DISTANCE
(3192 PSIMIN.) | 1/4" DEWALT ULTRACON W/ 1-3/4" (3192 PSIMIN.) | 1/4" DEWALT ULTRACON W/ 1-3/4"
MIN. EMBEDMENT AND 2-1/2" MIN. | 16" 0.C. | 16" O.C. | 16"0.C. | 16"0.C. | 16"0.C. | 16" O.C. MIN. EMBEDMENT AND 2-1/2" MIN. | 16"0.C. | 16"0.C. | 13"O.C. | 11"0.C. | 9"0.C. | 8"0.C.
EDGE DISTANCE EDGE DISTANCE
CONCRETE | /4" MILLENIUM MILLFAST W/ 1-3/4* CONCRETE | 1/4" MILLENIUM MILLFAST W/ 1-3/4"
3500 PSI MIN.) | MIN. EMBEDMENT AND 2-1/2" MIN. | 16" O.C. | 16"O.C. | 16"0.C. | 16" O.C. | 16"O.C. | 16" O.C. MIN. EMBEDMENT AND 2-1/2" MIN. | 16"0.C. | 13"0.C. | 10"0.C. | 9"0C. | 7"0.C. | 6"0.C.
(35 ) (3500 PSI MIN.)
EDGE DISTANCE EDGE DISTANCE
1/4" MILLENIUM MILLFAST W/ 1-1/4" 1/4" MILLENIUM MILLFAST W/ 1-1/4" 7
MIN. EMBEDMENT AND 2-1/2" MIN. | 16"0.C. | 13"0.C. | 11"0.C. | 9"0C. | 8'0C. | 7"0O.C. MIN. EMBEDMENT AND 2-1/2"MIN. | 7"0.c. | 5"0.C. | 4"0.C.
EDGE DISTANCE EDGE DISTANCE %
1/4" ITW SS TAPCONS W/ 1-1/4" MIN. 1/4" ITW SS TAPCONS W/ 1-1/4" MIN.
EMBEDMENT AND 2-1/2" MIN. EDGE | 15" 0.C. | 12"0.C. | 9"0C. | 8'0C. | 7"0C. | 6'0C. EMBEDMENT AND 2-1/2" MIN. EDGE | 6"0.C. | 4"0.C. | 4"0C. | 3'0C.
DISTANCE DISTANCE
HOLLOW 1/4" DEWALT ULTRACON W/ 1-1/4" HOLLOW 1/4" DEWALT ULTRACON W/ 1-1/4"
CONCRETE | MIN. EMBEDMENT AND 2-1/2" MIN. | 16"O.C. | 13"0.C. | 10"0.C. | 8"0.C. | 7"0.C. | 6"0.C. CONCRETE | MIN. EMBEDMENT AND 2-1/2"MIN. | 6"0.C. | 5"0.C. | 4"0C. | 3"0OC.
BLOCK EDGE DISTANCE BLOCK EDGE DISTANCE
5/16" ITW TAPCON XL W/ 1-3/4" MIN. 5/16" ITW TAPCON XL W/ 1-3/4" MIN.
EMBEDMENT AND 4" MIN. EDGE | 16" 0.C. | 16" O.C. | 15"0.C. | 13"0.C. | 11"0.C. | 9"0O.C. EMBEDMENT AND 4" MIN. EDGE | 10"0.C. | 7"0.C. | 6"0C. | 5"0.C. | 4'0.C. | 4"0C.
DISTANCE. DISTANCE.
5/16" DEWALT ULTRACON W/ 1-1/4" 5/16" DEWALT ULTRACON W/ 1-1/4" % % %
MIN. EMBEDMENT AND 3-1/8" MIN. | 16" 0.C. | 16" 0.C. | 16" O.C. | 14"0.C. | 12" 0.C. | 10" O.C. MIN. EMBEDMENT AND 3-1/8" MIN. | 10"0.C. | 8"0.C. | 6"O.C.
EDGE DISTANCE EDGE DISTANCE 7 % %
1/4" LAG SCREW W/ 1-1/2" MIN. 1/4" LAG SCREW W/ 1-1/2" MIN.
EMBEDMENT AND 3/4" MIN. EDGE | 16" O.C. | 16"O.C. | 16"0.C. | 16"O.C. | 16"O.C. | 16" O.C. EMBEDMENT AND 3/4" MIN. EDGE | 16" O.C. | 14"0O.C. | 11"0.C. | 10"0.C. | 8'0.C. | 7"OC.
WOOD (G=0.42 DISTANCE WOOD (G=0.42 DISTANCE
MIN.) #14 SMS OR WOOD SCREW W/ 1-1/2" MIN.) #14 SMS OR WOOD SCREW W/ 1-1/2"
MIN. EMBEDMENT AND 3/4" MIN. | 16"0.C. | 16"0.C. | 16"O.C. | 16"0.C. | 15"0.C. | 13" OC. MIN. EMBEDMENT AND 3/4" MIN. | 13"0.C. | 10"0.C. | 8'0C. | 7"0C. | 6"0C. | 5"0.C.
EDGE DISTANCE. EDGE DISTANCE.

8/19/2023 12:43 PM MATTHEW

NOTES: TABLE PROVIDES MAXIMUM ANCHOR SPACING FOR INDICATED ANCHOR TYPES AND

SLIDING PANEL VERTICAL SPANS FOR "LEG IN" CONDITION. ANCHORS SHALL BE LOCATED 2" MAX
FROM TRACK ENDS.
*ALL MILLENIUM MILLFAST SCREWS SHALL HAVE T&C ULTRACOTE

NOTES: TABLE PROVIDES MAXIMUM ANCHOR SPACING FOR INDICATED ANCHOR TYPES AND
SLIDING PANEL VERTICAL SPANS FOR ALTERNATE "LEG OUT" CONDITION. ANCHORS SHALL BE
LOCATED 2" MAX FROM TRACK ENDS.
*ALL MILLENIUM MILLFAST SCREWS SHALL HAVE T&C ULTRACOTE

N.T.S.

FL# 16219.1

gENGINEERING
EXPRESS®
POSTAL ADDRESS:
401 W. ATLANTIC AVE R10 BOX 219
DELRAY BEACH, FL 33444
ENGINEERINGEXPRESS.COM

ADMlon of ABC SUpply Co, Ina.

Wholesale Aluminum and Building Products
400 WEST MCNAB ROAD, FT. LAUDERDALE, FL 33309
COLONIAL SHUTTER
FLORIDA BUILDING CODE EIGHTH EDITION (2023)

Town S untry

FLORIDA STATEWIDE APPROVAL (FSA FL#16219.1

7/01/20
8/21/23

DRWN|CHKD | DATE
CCB |RWN
MLD |CCB

FBC 2020 (20-26168)

FBC 2023

REMARKS

COPYRIGHT ENGINEERING EXPRESS®

23-64831

SCALE: NTS UNLESS NOTED

9

OF

J




c:\users\matthew\engineering express\production - documents\projects\23-\23-64831 multiple products 2023 fbc update fl 16219\work\2023 fbc\23-64831 - fl16219.1 - dwg.dwg

8/19/2023 12:43 PM  MATTHEW

PLAN VIEW 1

SCALE: 1-1/2" = 1"-0"

PLAN VIEW 4

SCALE: 1-1/2" = 1"-0"

CLOSED POSITION

CLOSED POSITION

PLAN VIEW 7

SCALE: 1-1/72" = 1'-0"

PLAN VIEW 2

SCALE: 1-1/2" = 1"-0"

PLAN VIEW 5

SCALE: 1-1/2" = 1-0"

PLATE 0.090"x1"x3-1/2" WITH (2)
1/4"® RIV-NUTS (TOP & BOTTOM
OF PANELS)

CLOSED POSITION

>

Y
g S
ey R

%M; \
A R |||
—————————————— 'W'T-?.i:‘ 1]
Y A2
g [ i

COLBY BENNARDO, PE
PE# 95197 CA# 9885

SPACE RESERVED FOR DIGITAL SEAL
INFORMATION

WHEN DIGITALLY SEALED, THIS NOTE
SHALL BE FULLY COVERED ON SHEET 1

WHEN PRINTED OR PHYSICALLY SEALED,
SEAL OF CERTIFYING ENGINEER, AND
DATE OF CERTIFICATION SHALL BE
SHOWN TO THE RIGHT.

IN ALL CASES, CERTIFYING ENGINEER
AND CERT OF AUTH AS LISTED ON STAMP

\
7 N a\\\\S\GNED
TUrp WY 082112023

o
‘ ﬁ')/—PLATE 0.090"x1"x3-1/2"

'% WITH (2) 1/4"® RIV-NUTS
(TOP & BOTTOM OF PANELS)

PLAN VIEW 8

PLAN VIEW 3

SCALE: 1-1/2" = 1'-0"

_________ = FS—a=
L sz,

CLOSED POSITION

RIV-NUTS (TOP & BOTTOM

ot PLATE 0.090"x1"x3-1/2" WITH (2)
----------- L‘{?_QM1/A"¢
_______________ Su OF PANELS)

SCALE: 1-1/2" =1-0"

PLAN VIEW 6

SCALE: 1-1/2" = 1'-0"

CLOSED POSITION

FL# 16219.1

gENGINEERING
EXPRESS®
POSTAL ADDRESS:
401 W. ATLANTIC AVE R10 BOX 219
DELRAY BEACH, FL 33444
ENGINEERINGEXPRESS.COM

ADMlon of ABC SUpply Co, Ina.

400 WEST MCNAB ROAD, FT. LAUDERDALE, FL 33309
COLONIAL SHUTTER
FLORIDA BUILDING CODE EIGHTH EDITION (2023)

]! \r ,-.(‘,f: mnlulstlmsg
Wholesale Aluminum and Building Products

FLORIDA STATEWIDE APPROVAL (FSA FL#16219.1

8/21/23

DRWN|CHKD | DATE
CCB |RWN | 7/01/20
MLD |CCB

REMARKS

FBC 2020 (20-26168)

FBC 2023

COPYRIGHT ENGINEERING EXPRESS®

23-64831

SCALE: NTS UNLESS NOTED

o




	Sheets and Views
	23-64831 - FL16219.1 - DWG-01
	23-64831 - FL16219.1 - DWG-02
	23-64831 - FL16219.1 - DWG-03
	23-64831 - FL16219.1 - DWG-04
	23-64831 - FL16219.1 - DWG-05
	23-64831 - FL16219.1 - DWG-06
	23-64831 - FL16219.1 - DWG-07
	23-64831 - FL16219.1 - DWG-08
	23-64831 - FL16219.1 - DWG-09


		2023-08-21T13:59:09-0400
	Colby Bennardo




